p (trailing)

1 do
o dnp(trailing)

dnp (tralhng) [pb]

[—2.4,—1.8]

[—1.8,—1.2]

[—1.2, —0.6]
[—0.6,0]

[0,0.6]

[0.6,1.2]
1.2,1.8]
1.8,2.4]

(9.96 4 0.111 £ 0.339) x10~>

0.171 £ 0.001 £ 0.004
0.252 £+ 0.002 £ 0.003
0.301 £ 0.002 £ 0.005
0.31 £ 0.002 £ 0.005
0.258 £ 0.002 £ 0.003
0.178 £+ 0.001 +£ 0.003

(9.679 4 0.104 = 0.434) x 102

1.126 &= 0.013 £ 0.087
1.937 £ 0.016 £ 0.136
2.847 + 0.019 £ 0.173
3.409 £ 0.02 £ 0.2
3.504 £ 0.021 = 0.204
2916 £ 0.019 £ 0.171
2.014 + 0.016 £+ 0.138
1.095 £ 0.012 £ 0.098



